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(1) Senansgl ellarssennd silwns uSleundl o drorgr eranusaman sfluTTsgs
darererayd. sFsLLSeild @ampuilalden iennsé semsmetiumertlL b
2 Laig &g Ggflelssah.

(2) Bevd ydwgy sSmHUY eolloar wLLHCL  aupsesHED,
S HCETL(HeausHEGL vwau(Hss GCeuar(ib. LIL RIS auanfausns
Cuendled Lwemu B ey,

(1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

{2) Use Blue or Black ink to write and underline and pencil to draw
diagrams.

L@ - I/ PART - I

Simensg) allennasEnsEn el wefl&Eaab. 15x1=15
QarRasiul_(erer wrhny el saflld Bseaybd ghyerw e mwusg

Cahoshsss @GNI_GLen elaulemarnd GCardg erpsayL.
Answer all the questions.

Choose the most appropriate answer from the given four alternatives
and write the option code and corresponding answer.
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1. wrdfl sgredssrer HLudeny

—
() = (<) o (@) (w) &
n N3 n
Standard error of the sample mean is :
o JE o
(a) — b) o? (e)y ¥R d
7 (b) . (d) -

2. sflwrer sapors @(ma@Gw Cungl, Hy aramuang wm&@n e
(1) wrAfldwhissedla Yenp (<4) psa cuansU) YanLp

(@) S alen () @irer_mbd eusnasls e
Rejecting H, when it is true is called :

(a) sampling error (b) type I error

(c] standard error (d) type II error

3. 5x4 aflesyenw Coreyl Ul guigssTan aaeaulss Congemaniear &l eTambd

Fo M SEMT

(1) 12 (<) 18 (@) 25 (m) 17

The degrees of freedom of the chi-square test statistic for the contingency of order
5x4

{a) 12 (b) 18 e} 25 dy 17

4. @meaud wrpurl Gl ugluriede TSS=

(2y) SST+SSB-SSE (<2,) SST+SSB+SSE
(@) SST+SSB () SST—SSB+SSE
In two-way classification TSS=

(a) SST+SSB-SSE (b) SST+SSB+SSE
(c] SST+SSB (d) SST-SSB+SSE

5. 32D2=0, erafle 87 Bmay

(=1) 0.5 (<) 0 (&) -1 (FF) 1
If $D2=0, then rank correlation is :
{a) 0.5 b) © ] =1 dy 1
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byy=0.7 whHmd ‘a’=8 erafléd Y -éin Bgman X -@ei oL ar QgrLimyF swemim( :
(@) Y=0.7+8X (=)Y=8+0.7X (@) X=0.7+8Y (m) X=8+0.7Y

If byy=0.7 and ‘a’=8 then the regression equation of X on Y 1s :

(a) Y=0.7+8X (b) Y=8+0.7X (c) X=0.7+8Y (d X=8+0.7Y

@ oL Gammys Car(haear aammstarean Cemti@gsg arefla, ryy eramig) :

(=) —1 (<2) 0 (&) 2 () +1
If the two lines of regression are perpendicular to each other, then ryy, =

(fa) -1 (b) © (c) 2 (dy +1

eraflu Qwrgs pemlivyg, srRssiul L g argen Hmagg Wumrmlsefler
afleraseflen Quwrgsd 2CsCunan agean Qursgsda ssaiswrs QarHss-
updlmg ?

() srevrem () (<) By <peir(d

(@) @@rwureamr( () gl e

In simple aggregate method, the aggregate price of all items in the given year is
expressed as percentage of the same in the :

(a) Quarterly (b} Current year

(c] Half-yearly (d) Base year

@ Hmeieagdlen LsSTaRT(H HMed UHLTHSET UIHGUTI SHeUSET GDILLE) :

(=) aperr seawfliiLy (<) sred Ggm i euflens

(@) wrdfid uarLeTana () @O O arser

Data of annual turnover of a company over a period of ten years can be represented
by :

{a) a parameter (b) a time series

(c] a statistic (d} index numbers
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10. auewfla penseniluy Conblarearer @glivenL wireng) :
(1) aulfl (perpiL(BHSEIH0 (<) erdliiamey eSleugmiger
(@) =gsrius QAsrarensser () sLbssT eSleurmhiser
Business forecast is made on the basis of :

(a) tax regulations (b} future data

(c] Government policies (d) past data

11. @pdwrelles Gply @onuy udleyser sLLTLLIGEGS® HFuduRSSUULL

2enr(h

(<=1) 1969 (=y,) 1947 (&) 1970 (rr) 1951
Compulsory registration of births and deaths was implemented in India, during
the vear :

(a) 1969 {b) 1947 (c) 1970 (d} 1951

12. @pdw opdlern wpgad Caerreu yarefluiwd oCansarrs Gl(mhseur :
(<=1) 8. prugpmegen (<) 1981, aerGarmen
(8) LmaLm Myrendley Usasnemer (F) ST enas&e
The first Honorary Statistical Advisor to Government of India is :

(a) C. Rangarajan (b) P.C. Mahalanobis

(c) Dr. Francis Buchanan (d) Col. Sykes

13. L@TUSTT STCUSET GTEILS)
(=) srerell apgunss) (<) vEduns il é gagug)
(@) emellLd salg g (rr) Cpsmbdlu eneandgib
Qualitative data implies :
{a) Non-Measurable (b} Partly Measurable

{c] Measurable (d} All of the above
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wrpurGu u@lumnieie wrdfl efleurmiger :
(1) 01D (<) pemenD Geny STAHSME
(&) swwHmeneu (FF) eTrUHDEnE

In ANOVA, the sample observations are :

{a) equal (b} dependent
(c) unequal (d) independent
F -Gengenerr ____ cTana|ld BHLP&SILIHEMS).

(=) woyur’ G Cengeanen

(<=y,) syrafl alldls Cangenen

(@) dlreflewss bl Cergenen
() wryurl @ aildls Cengenen
F-test is also called as

{(a) Variance test
(b) Mean ratio test
(c) Standard deviation ratio test

(d) Variance ratio test

u@$) - I / PART - II

GOy : gGaeib ym alansseEnsdE e wealdsan. ellarm aar 24 -&@

SL_L_muwns aflen_wetldsab. 6x2=12

Note : Answer any six from the following questions. Question No. 24 is compulsory.

16.

17.

18.

Heratluflwedler gamGeuafl ereimuansg suemuUmIGSaYLD.

Define sample space in Statistics.

@&eUTEs MU uaTuaTeneUENI B TWMIGSELD.

Define chi-square Statistic.

WIMUMHL UGG GTETMT GTeer ?

What is Analysis of Variance ?
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19. @.erb. Liger - e ¢l (e umbliu cuenfwenmenil eT(Lp&IS.

Write the definition of correlation by A.M. Tuttle.

20. @ran(® o Lem GsmiL FWwerun(HSeneT eT(Lpg)s.

Write the two simple linear regression equations.

21. & Canseman eeTmmed eTemar ?

What is circular test ?

22. Gursdlenan enellHid penpaeners Guwifl(Bs.

Name the methods of estimating the trend.

23. @i Fuweld ukig LBumb (puweaws aergsd wws BosE G ererug LD
GUED TWIMISHSELD.

Define population or target group under study.

24. om wsiler gy GHLELL srgdld Ynks Gweilsaflar aaraflsmsyn 26s sme
e Gaafllleo Gnks Guailsalar aamamiismsynd weonGw 500 ysa|b
75 gseb udle Gawlul Hererar. ipBsflear el Gnluy Adlssmss
samssl (Ns.

The number of live births recorded and the number of Infants died in a town

during a given period are 500 and 75 respectively. Calculate the Infant mortality
rate of the town.

U@ - I / PART - III

GPluY . gGsend oum eflarmésend@ eflenwelléseb. eflarT erar 33 -&@ SL_L_MULOTS
eflenL_wefl&sea]b. 6x3=18

Note : Answer any six of the following questions. Question No. 33 is compulsory.
25. epene Gangeanes, @ mpeaner Gargenen eramueney UMD 65len&Es.

Explain one-tailed and two-tailed tests.
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Qumrmsgiselen Gebenn gamenwenl SPlwn Cenganar LDDl Hm GOLY cuenrs.

Write short note on testing the significance of goodness of fit.

@@ eufl wrmur’ (U uguumisilen s L ewlmu eT(Lpg)s.

Write the model ANOVA table for one-way classification.

euaswrer Ghluihsafle FCp der@asiiul(Rerer ofleupmhsatien Glummss-
(penL_enenl prmigs. N= 1000, (A)=600, (B} =500, (AB)=50.

Test the consistency of the following data with the symbols having their usual
meaning. N =1000, (A) =600, (B)=500, (AB)]=50.

Y -an Bgmen X -@en 2 L e QgmLiy swerun(y womib Bige @we swaun(saar
Gr@g,]aa

Write the regression equation of X on Y and its normal equations.

@ GOILEILL sragdla, g Shmidle eunphs waseflarn aranaildans 15,000, Gs
snevgdlar meuapfley @nbgeutser ecranaiisams 98 eralldw, Heuafler Dsluaim
@pluy afdlgw smars.

There were 15,000 persons living in a village during a period and the number of
persons died during the same period was 98. Find the crude death rate ?

cuangglenpuier Gupliu@bn eumwrea SleugsdnE eny Frrefl pemenwil
vweruRsH Guns@ LHOILSE Sramrs.

QLD 2008 | 2009 | 2010 | 2011 | 2012 | 2013

61(TF LD TEVTLD

(Camgullev)

46.17 51.65 63.81 70.99 84.91 91.64

Calculate the trend values using semi-average method for the income from the
forest department.

Year 2008 2009 2010 2011 2012 2013

Income

46.17 | 51.65 | 63.81 70,99 | 84.91 91.64
(in crores)
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32. Sl duafleow Gupblamareugme gnuiBin parewsiamers U iguiedi(his.

List the benefits derived by doing a project work.

33. Spssmamin GHWHseneT uwaTuhsEH Lrrbev - Quenedl whmib Gagflen adlwpbw
GOSL(H cramsmens STams.

PL =125 P} =126.21

{¥

Find the Dorbish Bowley’s Index and Fisher’s Ideal Index by using the following
Index numbers.

L = r ;
Pl=125 P} =126.21

u@S - IV / PART - IV

@GDILY : Spssnrand Jemengg elannasErs@ elawailsseb. 5x5=25
Note : Answer all the following questions.

34. (=) em fneuend swrfss semeandg LED efland@aailen symafl o,ul smeb
2000 veafledr. =iga L allwssn 150 wearflaear. sweumluy (penpullen
aREsILLL 100 dler&@senersd Csmeawri. ¢pqp wrHdl dgrgliYen symef
S sneb 1950 werfiser. geublaunm Cgmgnda » dar eflanégaatlen symail
Ul sren 2000 waflsar eaarm smaHalmbgy dmea GHUYL 5555
allgflursgensl) Aundlmadngr aarLams 5% Wens sramr Hlanauier Candlsg

LT
{2) sBGIGCsTeT CargamenuilarGurg Weatunmuu@n Curgeurar apl(pamsena

clen&(§s.

{a) A company producing LED bulbs finds that mean life span of the population of
its bulbs is 2000 hours with a standard derivation of 150 hours. A sample of
100 bulbs randomly chosen is found to have the mean life span of 1950
hours. Test at 5% level of significance, whether the mean life span of the
bulbs is significantly different from 2000 hours.

OR

{b] Explain the general procedures to be followed for testing of hypotheses.
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35. (=) gaflpunseflen 2 WM GISS HNWPS55MSE GODULSDSTS BEUNSHEHSE P6)
GeveuCGaumy mLumgsear weanCu, wmbsalssd, e LHulkind wonw Hpdy
o amme| HyHweweu eumiiy @panpuller yefissuumdleamg. Breans
UTILSERSGU YnG Seuisellen @rss siwssw ulGsrdasuul B udle
Qewiul® Spssrgnd i Lauamanuila Qarheslul Hererg. apern)
GewauGeumy ML uriseflanTed galisunsatien @rs5s ipss srraflsensdlen G
gGsepw GHLYILEs56s eNlgHwunsd ghul(hetarsn eren 5% Wlenssmer
Hlenawulla Gandlés.

m@mﬁaﬂgg}m 10 12 9 15 13

2 L pHuulilns 6 8 3 0 2
fmiy earey | 5 9 12 8 4
EYNVEY)

() Yareumid sreysEns® stra Wutsnallear ol (Hneysd Wagpency searsdll ()
NTHED F(HE.

X 9 8 7 6 S 4 3

y 15|16 141131112110 8 9

(a} Three different Techniques namely medication, exercises and special diet
are randomly assigned to lower the blood pressure of individuals diagnosed
with high blood pressure. After four weeks the reduction in each person’s
blood pressure is tested and recorded and is given below. Test at 5% level,
whether there is any significant difference in mean reduction of blood
pressure among the three techniques.

Medication 10 | 12 e 15 13
Exercise 6 1 8 3 0 2
Diet 5 9 | 12| 8 a

OR

{b) Calculate the Karl Pearson’s coefficient of correlation for the following data
and interpret.

X 9 8
y 15|16 | 14 | 13 | 11 12 | 10 3 9

=]
=)
[9]]
I
b3
—
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36. (=)
(<34)
(a)
(b)

37.

10

grnefl | SI_L_eSlevasn
Cargianw allenengse (F 4./ sgr @) 10 8
QUG ey Biete| (Glg.15.) 8 2

@LBneys Glaup : 0.5.
wenp Bjerey 9 G&.8. s BREGL Gurg efamadsmad GTas.

{6060
gpmb euglibler 2 arer 8 wrewreursalien erenLser (&.41.) 38, 42, 43, 50, 48,
45, 52 wmmd 50. wpupews Ggreduller wrmyur®k 48 &4 eranm
smgCeraner Candlésea|b. wppawsbsnEd @uablame Qgn@d eramid iger
grrafl p eremug) Geflungg erenugTaseyd CHamears.

Mean S.D.
Yield of wheat (kg/unit area) 10 8
Annual Rainfall {cm) 8 2

Correlation Co-efficient : 0.5.
Find the yield when rainfall is 9 cm

OR
The weight (in kg) of 8 students of class VII are 38, 42, 43, 50, 48, 45, 52 and
50. Test the hypothesis that the variance of the population is 48 kg, assuming
that the population is normal and (1 is unknown. https://www.tamilnaduboard.com

(1) 2014 -2 1b Sy etenL. SjglILienNL e THs Qenan(h SDEAETL SiF6sEhédE

(1) ewreviuwiran @olui® (2) urdlulen @BluSh (3) wrrage-er’_Hbeurtsd GHluIc
wHmb (4) Gagt epBlw EHuH sansdBs.

AU _sem a(mLb 2014 (R 2015
allemen | geney | ellemen | yemey
A 6 S50 10 56 |
B 2 100 2 120 !
C 4 60 6 60 |
D 10 30 12 24
E 8 40 12 36
S|6V6VG)

(=) Epsangyd Qemfagen Gsmfeoramsailar paTCGart alena @Muil @

eTem g(@nd@ EAM eurdsapenmuile Gunég Camrl Qummszs.

6U(HL_LD

2010

2011

2012

2013

2014

GO B erever

166

177

198

221

225
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{a) Calculate (1) Laspeyre’s Index (2) Paasche’s Index (3) Marshall-Edgeworth
Index and (4) Fisher ldeal Index for the following data taking 2014 as base

year.

Year 2014 Year 2015
Items

Price |Quantity Price Quantity
A 6 | 50 10 56
B 2 100 2 120
C 4 | 60 6 | 60
D 10 | 30 12 24
E 8 | 40 12 | 36

OR

(b} Fit a straight line trend by the method of least squares for the following
consumer price index numbers of the industrial workers.

Year 2010 | 2011 2012 | 2013 | 2014

Index number | 166 177 198 221 225

(1) sblpprl e Capars enuddlssrs LwauhssULIEHD BletiurliL) jerellen
(puimd Dans@uild) efleurnd Gemeumwnm

U (RHL_LD 200312004 | 20052006 (2007|2008 (2009 {2010

Ly (&I_,US]ULD @Mg,{gl_ﬁ}m) 1181 109 | 100 | 95 | 94 | 90 | B2 | 76
2eor srrsdl apepeows uwaumhsH Cunse wHOLsET &remTs.

EANEVES)
(=) @@ ugdlsagierar wisear dgrens aanaiisns, sliugdaefiaerer
awgECaEDY Gupssear, seuphad ghul L @uiisd dumer Spsser
Il Leausmenrudies gruul(Heterer. Cetueaflourr @puy al1fgss5amsw,
aLngs Ghlss @nli aldlsgeansub Lgd 1 oo LGS 1 -DE sTaws.

u@@ I u@ﬁ I

6L LLIG)
(ps D seflen) w&seT | @ouyseailar | wasen | @nluyseaflen
Clgnens | crensTenllsens | Clgnena | siews onfll&emns

0-10 3000 55 7500 300
10 - 25 4500 30 6000 50
25 - 45 6000 40 8000 40
45 -5 Guod 1000 15 2000 64
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{a) The following table shows the area covered for cultivation of Ragi in Tamil
Nadu (in ‘000 hectares)

Year 2003|2004 |2005)|2006 (2007 |2008)2009(2010

Area (in '000 hectares)| 118 | 109 | 100 | 95 | 94 | 90 | 82 | 76

Find the trend values using semi averages method.
OR

{(b] Number of deaths recorded in various age groups in two areas and the
population size in each age group are given in the following table.

Area I Area II
Age group (in years) Population lile':t:i Population I;We‘:t;i
0-10 3000 55 7500 300
10 - 25 4500 30 6000 50
25-45 6000 40 8000 40
45 and over 1000 15 2000 64

Find the crude death rate and age specific death rate of Area [ and Area IL

-00o0-
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